| SEMESTER M.TECH. (COMPUTER NETWORKING AND ENGINEERING)

1A.

iB.

1C.  Using the CIDR notation, show the [Pv6 address mapped to the IPv4 address 129.6.12.34
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Instructions to Candidates:

% Answer ALL the questions.
< Missing data, if any, may be suitably assumed.

Silly window syndrome is a drawback in TC};’. With a scenario, explain the occurrence of silly 5

window syndrome and the algorithms developed to address it.

For the graph shown in Fig.Q.1B, identify the different phases of congestion control and the 3

operating interval.
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Fig.Q.1B

2A. Consider the scenario of a network shown in Fig.Q.2A for path vector routing. Write the
path vector routing table for each router after all three routers have updated their routing table.

FETSt01 - S Pagetof2

2



Aol

2.

2C.

3A.

3C,

4A,
4B,

29%.0,@ 210 ﬂ:a_a.am.éﬁgx, e 'Eéa.us.@,ﬂ/!e
T Lo 080l % (30,1500
H By P
2002204 o
A1 E
=
Legend . AS3 E %?;T:M.%ﬁ
CEY Ethemebowibch 2 e *% !:;'.e-lafag
DD inbera rouker 180.5.9/8

s Exberior rouber : ;
{6009fe wesgfe 1%090fg
: : ' - FigQ.z2a _
An ISP has assigned the IP Address block 218.117.80.0/20 to MIT. With this block, how
many subnets of 32 addresses can be created? What is the range of addresses of the first and &
the last subnet?

Discuss the use of raw sockets in OSPF. ' 2

Compare the state transition diagram of TCP server and SCTP server. Discuss the important §
feature that has improved the performance of the SCTP.

An SCTP client opens an association using an initial tag of 806,'an initial TSN of 14534, and 3
- a window size of 20000. The server responds with an initial tag of 2000, an initial TSN of

670, and a window size of 14000, If the client sends 7600 data chunks and the server sends
570 data chunks, show the contents of the three packets exchanged during association
termination. '

Why is there no heed for the IGMP message to travel outside its own network? 2

Describe the necessity of protocol independent multicast routing protocols and its operation. 5

Change the following IP multicast addresses to Ethernet multicast addresses. How many of 3
them specify the same Ethernet address?
i.  224.18.72.8

iv. 22488128

the original timestamp is 52,453,000, If the sender clock is 5 ms slow, what is the one-way
time? '

SA.__AM[iIe_scmcLstde_pmgramto-seLu.p~a-connect-ionr-betweenmtw&maeh-ines&—usin-g—T&D—sockets.-—
Write the syntax of system calls used to set and get socket options.

5B. Show with an example that the hierarchical routing reduces the size of the routing table. 3
5C. Show the computation of retransmission time out timer in TCP. 2
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